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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the
detailed instructions given therein.

M :  TE U &1 A (200) 37 6 E UH THH AW (4) TS & | ST i T GHIfeT U9 % IR
31T T58 T Tarega FSetl o AR ST e |
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SECTION -1
EC g |

Note : This section consists of two essay type questions of twenty (20) marks each, to be

e

answered in about five hundred (500) words each. (2 x 20 = 40 marks)

T TE ¥ S9-a19 37 & & FawureTes 79T € | U 1 3 oI Ui |t (500) St §
TUAT T | (2 X 20 = 40 37F)

Define inter-union and intra-union rivalry. Discuss the impact of trade union rivalry
on the growth and development of trade unionism in India.
TR A T TG UTEEar hi GRS il | IR § ASIgY 9aTs o foeh™ |
HSTGY | Wi (v5all & e i gl i |

OR / &tgan
differentiate between training and development. Explain the main methods of training
which are considered more popular in the present Indian industrial scenario.

TTeTeTOT TR foehT § Sie ST T iU | ARTeI0T oht Ul W fafeE @ e sie S
TR TR STENRTR TRuled 7 31k Arenivs =T ST € |
OR / et

Distinguish between labour legislation and social legislation. What are the various
principles of labour legislation ?

S I T T STEH & St St T Hifey | 99 3ttty & fara= fagr
FALE?
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2. Despite various measures adopted by the Government of India, industrial disputes
have been on an increase. Examine the role played by various machineries in this
regard.

IRA TRHR R 3 U I AN & FEsE ot YRS | S foami o g § FRe)
FFE W& | 39 T 1§ fafer=T TeiiRar i Jfirehr 1 wiefor Sifs |

OR / &tgan
Compare and contrast the H.R. practices in domestic and multinational companies in
India.
RA § ST TAT TG HurTaT oht HI-a FHTE UTHATS 1 T STETIH iU |

OR / 3gar
What has been the impact of ILO on the growth and development of labour
legislations in India ?

aRa | o foaamt o foehr 1R 317, Uet. 371, 1 ST U TeT € ?
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SECTION - 11
g - 11
Note : This section contains three (3) questions from each of the electives/specializations.
The candidate has to choose only one elective/specialization and answer all the three

questions contained therein. Each question carries fifteen (15) marks and is to be
answered in about three hundred (300) words. (3 x 15 = 45 marks)

AlT: I@ G A UAS Ufs ohrE / fovivsar @ @9 (3) TR § | 31l i Aol U U
THTE / TTRISRI ol TR ST o T J9HT b1 STR ST € | Uieh U9 Ugg (15) 3ih 1 &

YT ITR AT i &Y (300) TI=3i F mafera & | (3 x 15 = 45 3i®)
Elective — I
fawea -1
3. What are the causes of industrial disputes ? What preventive measures have been

taken in India to check the growth of industrial disputes ?
3TIENfTeR TamaT o SROT A & € 2 YR § STiiTeh foast st e & feTd shiF & 3T oy 1o
g7

4, What is tripartitism ? Examine the working of tripartite bodies in industrial relations
at the national level in India.

Brefigers 1 & ? YR ¥ i 9eY & 8T 0 ULEER W R Gueta et o
TSRATCHSRaT ST IX1&T0T ShiteTT |

5. Bring out the provisions of Code of Discipline in Industry in India. Should the code
be scrapped now ? Discuss.

IRA | S H SR GheaT o WEET Sl =i RIS | R 39 hedr ol 376 GHTd ST
=ife ? == HIST |

OR / &gan
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Elective — 11
fawea - 11
3. What do you understand by downsizing ? Explain the role of golden handshake as a
2001 in managing downsizing in organisations.

SISTATESTT & 31 47 THErd & 7 SISTTEeTT o {G9m § Tiee 8Ueeish i Ueh 9 & &9 §
T T T 2

4. Explain the measures that should be taken by human resource managers to make a
training programme effective.
TS UTTEA0T SHTIshH Rl TTE S i SO H A ST Feeshi 5T [T ST Hehed et 3urat
! ATEAT HIT |

5. What is organisational change ? Why people resist to change ? Suggest measures to
overcome the resistance to change.

HISTCHS TSATd T & ? AT S5eiTd o1 [akiY Rl i € 7 SeetTel o Ui fakie W ol U o

foTe 3ur g |
OR / 3rgat
Elective — I1T
o - 111
3. Bring out the important provisions of the Factories Act, 1948 with regard to “health”

and “welfare”.
FRGAT AT, 1948 H U T TR T “HedA0r” § Haled Hewoqor Mae=i S ==
T |

4. Discuss the working of “labour enforcement machinery” in India. What
recommendations have been made by the Second National Commission on Labour in
this regard ?

IRA H ‘TR THIHS AR ol ==l HITT | 39 Gaiy o f5did T2 &1 ST gRT i 9t
TEORTIRRT o0 775 off 2

5. What factors have led to the growth of labour legislations in India ? In this regard,
examine the labour legislations applicable to the unorganised sector.

IRA § o1 tfufaei o faehrd o %R a o 9 € 7 39 T3 7 Siad & | o] g aret
o1 Torerii =1 oRieTor iy |
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Note :

e :

SECTION - 111
g - III
This section contains nine (9) questions of ten (10) marks, each to be answered in
about fifty (50) words. (9 x 10 = 90 Marks)
3G T 4 39-29 (10-10) 37hi & At (9) YT & | Uheh U 1 STR AT 7= (50) I1gi |
TUTAT & | (9 x 10 = 90 3i)

What is scientific management ? What are its salient features ?

ATeh Teie T € 2 SHeh! T fargraarent sl = =i iy |
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7. Differentiate between strategic and operational planning.

T T ORI ST o &ie 3R T iy |

8. Distinguish between job enrichment and job enlargement. Examine their usefulness.

ST TANEHS qT “Siid TrATSTHES o S 37X TS hiTSTT | THehl STTTTTAT Shl TLIET0T THifsTq |
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9. What do you understand by “unfair labour practices” ? How are they regulated in
India ?
3T %19 SFIER (3R TeR Hided) T 319 7 THerd & ? 9Rd H g6 vy (afd e st
g7
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10. Differentiate between “wage” and “salary”. Explain the principles of wage and salary
administration.

ASTgAl @ A o & Sik T il | TSIg a2 3a- o Temee | Haitd fagrat &
AT HIT |
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11. What are the imperfections of labour market ?

ST STSTR Y STYOTATST ht =l hifTT |

12. What are the types of labour legislations ? Explain with suitable examples.

o1 et o A | TR &Il & 7 SUGSRT SAERUT o TTe Sh! AT FHifTT |
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13. Enumerate approaches to the philosophy of labour welfare and explain any one of
them in detail.

S SHeT0T & S oh Ui SUNTHT <! GRITOTE ShitsTT qer 378 § {shd} Ueh i AW il |
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14. What are the objectives of state regulation of wages ?

ATt o TSTehI (20T & 3299 FIT € 2

SECTION -1V
G-IV
Note : This section contains five (5) questions of five (5) marks each based on the following
passage. Each question should be answered in about thirty (30) words.
(5 X 5 =25 marks)
A  I{ @s § Efeiiad 9T T Saiid dier (5) U9 & | Ui U9 1 ST’ T |t (30)
YT H U € | Tedieh Ue U (5) SR m e | (5 X 5 = 25 3i)

Conflict is a part of the organisational life and may occur within the individual, between
individuals, between individual and groups and between groups. While conflict is perceived
generally as dysfunctional, it can also be beneficial because it may cause an issue to be
presented in different perspectives. One top executive of a major company maintained that if
there was no conflict on an issue, it could not have been sufficiently analysed, and the final
decision on the issue was usually postponed until all aspects were critically evaluated.

There are many potential sources of conflict. Today’s organisations are characterised by
complex relationships and a high degree of task interdependence that can cause frictions.
Moreover, the goals of the parties are often incompatible, especially when the parties compete
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for limited resources. People also have different values and different perceptions of issues. A
production manager, for example, may take the position that streamlining the product line and
concentrating on a few products can make the organisation more productive, while a sales
manager may desire a broad product line that will satisfy diverse customer demands. An
engineer may want to design the best product regardless of cost or market demand
considerations.

Conflict can arise from other sources as well. There may be conflicts between people in
line and staff positions. A superior’s autocratic leadership style may cause conflicts. Differing
educational backgrounds are potential sources of conflict. Perhaps most often mentioned is the
lack of communication.

Conflict can be managed in different ways, some focussing on interpersonal
relationships and others on structural changes. Avoidance of the situation that causes the
conflict is an example of interpersonal approach. Another way of coping with conflict is
through smoothing, emphasizing the areas of agreement and common goals and de-emphasing
disagreements. A third way is forcing, pushing one’s own view on others, this of course will
cause overt or covert resistance. A traditional way of coping with conflict is to compromise,
agreeing in part with the other person’s view or demand.

Attempts can also be made to change the behaviour of individuals, a very difficult task

indeed. At times, it may also be possible to reassign an individual to another organisational
unit. In many situations, conflicts are resolved by a persons higher up in the organisation who
has sufficient authority to decide an issue. The problem is that the loser may attempt to get
even with the winner at a later time, thus perpetuating the conflict. In the problem-solving
approach to organisational conflicts, differences are openly confronted, and the issues are
analysed as objectively as possible.
Another way of coping with conflict is to make structural changes. This means modifying and
integrating the objectives of groups with different view points. Moreover, the organisation
structure may have to be changed and authority-responsibility relationships clarified. New
ways of coordinating activities may have to be found. Tasks and work locations can also be
rearranged. In one work room, for example, machines were placed in a way that prevented
conflicting parties from interacting with one another. Often one must not only decide on the
necessary changes but also select the appropriate process.

TN TISHTCH Sia o Ueh 3771 ¢ T fohdlt =afer o 37eR, ARl o o, SAdaal oeT THel o
e T THET SR YT o o Hied & FehaT § | TEry Y Rl ;- fohaTenehar § Seeh W ST €
g TTIHRT Ht & TehelT & FiToh THoh HIRUT Ueh T T TfTehevT fafir= ufislei o & o € | Uk Wy
HH % T INY TR HEABRT SAHRT T g AT ¢ o6 a1S fhdt g2 TR his Ga9 Fal & o SThT T2
fargeiooT =&t & ure o 39 §E W iy Mo qma: O a% Wi W@ ST S a9 39 qet
TEe] 3T ST FHTCT eI Hodteh el SR Tl ST |

G I A o 3T IR AT & bl § | TS & WS Siieel Fadi qo 3o T
ST & JoT & ook HRUT FEY ST &1 Thell & | T/ SRR fafe=1 vedi ferere: St s
i FTeT o U 2ig 8 — o o1ed TgeT WER foRi eid € 3R o 17 & uiq =t =afaaat & fu=
o e = aROTE et € | 33RO, Ush SIS Yeedh g GieehivT 3101 HehelT € fof Wiede re ot
T T AT R TA AT TS AT ScUTRT o G TR A Hid el & TS bl Ieagehall
I WSFE ATE i 1] hAT TNMET | Teh TSN-TAR Tg TR {oh, SIS <l T e T & foaR st W
T, 3TH IS T SAET & |

TN 3 Hidl @ off SO & Wkl & | Te AT =T o e off W &t Gehel € | T8t i
TeeT Iett o ST oft T ST & Tehall & | VfeTes TvfH ot Feta «ff Tord 3ca= e ol 9T i
T | WY 3 A STt ST Bl H Ta 31 ek TwiNeT & e SR R ST € |
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e ot fafe= adent | it foham ST oehal € | 3970 @ 59 ik Sidqaafeaes deel W hisd
B & T F5 3T T Qe T hisd 8l ¢ | HaW Sca=T i aet! R & ST Sfetash
SUMTH T U SAERVT € | IS T GeRleell FH H T 3T AR GHIE TE AT I R G
HETAR AT & ST enfaret &3 q=n ToH Fedi W FeT A7 71 STIEA{d aret &3 i Hewd Fal 3
ST & 1 370 TTaRT ot SERT TR 29T Ueh SIRT TRIehT & ST e Wehe AT 31ehe &Y H Uiy e
FIATE | G T YHIECAT F T Teh TR TN FHSAT €, 3T FOR AR & (=R a1 TAT i
39T & | TR FATE |

Sl o EER | TaeATd A 1 T S FoRaT ST TehelT & ST el § Ueh hicd i & | Fedl-
I, Tk AT Sl WA= & [hdl 377 I T HREUR G ST Gehdl & | TS & STIUSHEIA =i,
578 fordlt g2 W FoTer o= o1 vt S1freRR &, 5T Ferst o1 FOeRT foRar ST Seha & | 39 9ET 98 §
T ERA ATt SAfeRT STia- aTet Safa W a8 | ST TR i It 3 Fehdl § 5799 55 § feRentae o1
ST & | ST WSt bl Yot o foTT 31O ST Wehe aTet SUNTH | Hawisl o1 gol & | Qe
ToRaT ST & T TET bt ATeeye f7oaet fareeteoT fohar ST & |

AT ST T TS, ST HehTaelT el ol Ueh 31 TRIehT & | 3Rt 319 &, fafi= gfeeenior
T T THE & 32T hl FUTAR T2l Tehidhel heAT | 3ok SRS TS Sl GIFAT hl 8ot hi a2
AMYHR ST TeieT T T I ol SATTHAT & Fehell & | Tohamshemdl § qo=a wfud & &
T TRT T AT T BRT | W T HIET T Hi-STaRTaar bl ff qHIared fmar ST gehel € |
IRTEROT &Y, U FHE-3he] H HA1 o1 30 TR & @ 77 o7 ST Farepdy qeti st SATe=1-9reT et
T Th | FOT T ATl Sl hael STEvd e URedT et FTE & el oA ey S e vtk o
ST AT |

15.  What are the different forms of conflict and what role they play in an organisation ?

e o foaf= ®9 I | € T Ueh T H fohd WehR i iRt 9l & 2
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16.  What are the sources of conflict and how would you manage them ?

HEY 3T~ T o FId B G & 941 3T 3% o7 TR it w1 ?

17.  What are the strategies for resolving conflict and which strategy you think is the best ?

G <l GeTeT i IR i 9t € T4 S8 & foheh! 3117 Gaias YOI 7= 2
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18.  What do you mean by structural changes ? Explain the methods of coping with them.

AT SEeTal § 3117 T THEI & 7 ST JhTaIell i o aRieh ol ST HhifeTT |

19.  What do you mean by inter-personal conflict ? How can it be resolved ?

SfcrerafarTe T | 3T 3T THH & 721 3 Y YoremdT ST qehell & ?
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